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£ g - AKTiE Bifr B 2 B i & #B w E
EEIEH 336, 574, 492
MiEIER 81,806, 146 + 98,905, 182 180, 711, 328
HBEREE GD 52,825,487 + 27,654,080 + 1,326,579 81,806, 146
HBERHE (BLE) 52,825, 487
HBERER (F) 340,148,592 x 8.13% ((3.85% x1.68 +1.50%) x 1.02) 27,654, 080
BSRENER 340,148,592 x 0.39% 1,326,579
RnEER 418,380,638 x 23.64% ((21.67% +1.28%) x 1.03) 98, 905, 182
TR 336,574,492 + 180,711,328 517, 285, 820
—REEEZ 517,285,820 x 13.54% (13.54% x 1.00) — 3,234 70, 037, 266
RFIIRELE 517,285,820 x 0.04% 206,914
T &l 517,285,820 + 70,037,266 + 206,914 587, 530, 000
HBEREELE 587,530,000 x 10.00% 58, 753, 000
HAISE 587,530,000 + 58, 753, 000 646, 283, 000
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% # s - Tkt B H OB B & # =
BEEISE 336, 574, 492
=B (-12m) 336, 574, 492
AAEI [HEXRKRRK] 317,919, 715
fHEXRT 190, 377, 437
RH#iE 200kg/ELLT (F85E) 10, 057, 460
1 AMEE 361.00 217, 860 10, 057, 460
Zm3
HEXRD ¢1,200mmx 16t . L=32.0m 155, 546, 412
2 HERRMH 1.00 122, 2217, 560 122, 227, 560
=®
3 HERRITER (1) $TERE24.0m, #EAK15. Tm 6.00 1,189, 959 7,139, 754
.
4 HHERMITR (2) $TERE24.0m, #EAK16.0m 22.00 1,189, 959 26,179,098
.
HEXRQ ¢1,200mmx 16t, L=31.5m 22,005, 624
5 $HE RRMH 1.00 17,245, 788 17, 245, 788
=®
6 HHE RIRITEE TEER24.0m, #RAEK16.0m 4.00 1,189, 959 4,759, 836
.
ECE) 2,767,941
1T EMER EH2=10m, EHiL=14.5m 1.00 205, 866 205, 866
=®
8 BMEERE 45.00 56, 935 2,562,075
m
HEELET 62,522, 495
xR 15,515, 260
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[ B - Bk Bifr # = B @ & E S

9 ZR#sL - A5 215.00 72,164 15, 515, 260
m

% X AR T B £=9mm 36,016

10 SHEXIREIMT 4.00 9,004 36,016
m

& KR Ul B t=14mm. t=16mm 8, 352, 036

11 868 XU 759. 00 11,004 8, 352, 036
m

& KXtk U B t=17mm 351, 330

12 - ST RRUIER 30.00 11,711 351, 330
m

HHE X RER - RE 2,139, 830

13 HEXRRER - KB CBL—&EAR) 154. 00 13, 895 2,139, 830
&

FTHIED - X bysi— $S400 5,995 967

14 Fhibsh - R bysS—#% 1.00 129, 617 129, 617
=®

15 R by N—&% t=9mm 1.00 30,975 30,975
m

16 FhibsdHAE 1) t=14mm 58.00 89, 775 5, 206, 950
m

17 FhitdHEE Q) t=16mm 7.00 89, 775 628, 425
m

ke - N SD345, SS400 20, 024, 411

18 Rk - REMF 1.00 7,193,738 7,193,738
=®

19 Rk - RERE 153. 00 83, 861 12, 830, 733
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20 hiEa b ) — FERE 235. 00 12, 561 2,951, 835
m3
21 hEEa vy ) — FTER 235. 00 30, 450 7,155, 750
m3
BT 65,019, 783
[ 2-H300%300%10%15 23,975, 324
22 REREMTTEIL 40.00 1,082 43, 280
P
23 BEEEMERST 222.00 107, 802 23,932, 044
m
B 2-H300%300%10%15 31,714,916
24 REFREMTATEI L 38.00 1,082 41,116
&
25 REEEMERT 215. 00 147, 320 31,673, 800
m
LA ZEE19. 10m/& 3,432,867
26 2 A 74 v—HEft 3.00 1,144, 289 3,432, 867
b |
2 A% X E&25. 50m/ & 5, 896, 676
21 B4 74 v—Hft 4.00 1,474,169 5,896, 676
b |
A - EIET 16, 900, 479
AT 16, 900, 479
Yo JIAORVAVARSY 16, 900, 479
28 HEEYHRA (CREBBAAR) 3,651.00 4,629 16, 900, 479
m3
&L 1,754, 298
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£ b R - ARSTiE Bify H 2 B & # wm =

REEZEZ HEIRT 1,754, 298
R %1% % Sl R AR SP-IM &, L=7.0m 1,754, 298
29 REEEZ HRRER 1.00 1,754, 298 1,754, 298

=
HERRE FEL) 52,825, 487
HBERRE 52,825, 487
B - A LMRE 5,178,379
Z LM M 1,141,271
30 ZLViE MITHRH-125 1.00 1,141,271 1,141,271

[
Z LM EE#m 1,219, 862
31 ZLVE R EHM GEMiER) D120t/ 1.00 1,219, 862 1,219, 862

[
Z LM EE#m 2,439,724
32 ZLViE R EHM GEMiER) D120t/ 2.00 1,219, 862 2,439,724

[
Z UM Ny R R 377,522
33 ZULVRE Z1%y Rty R g EMEH D 2. 0m3 1.00 377,522 377,522

[
EiE 1,267, 841
RS B EW sBa—39L—> 1,189, 965
34 o fEAESLIEW JBa—5%9 L—265tm 1.00 1,189, 965 1,189, 965

=
REEM FEM BB 77,876
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£ b R - BRTE B 2 i * 8§ i
35 (R &M EEEMH (1) B2 =10m 1.00 18, 264 18, 264
=
36 & EEHR (2) BHil=14. bm .00 59, 612 59, 612
=
BEBAMLEELRE 3,574,100
KB FE L 14mx 14m, h—F > &K4m 3,574,100
37 FAMLEREE .00 1,122,700 1,122,700
=
38 FAMLEEE .00 1,009, 400 1, 009, 400
=
39 BAEMLERSE BEFFOA4VFHY 00 1,442,000 1, 442, 000
=
ZEE 41,536, 143
BEXE =5 246, 096
40 (TR EMHBFEE .00 187,815 187, 815
=
4 EBITHEEE .00 58, 281 58, 281
=
BEXE ZEERM 37,614, 059
42 REESHRM (1) ThES8h .00 35, 808, 426 35, 808, 426
=
43 REERM Q) FHE10h .00 1, 805, 633 1, 805, 633
=
BEXE REEWEEK 3,675, 988
4 ZEERMEMEESE (1) ThES8h .00 3,478,104 3,478,104
=
45 ZEERMEMEESE 2 FHE10h .00 197, 884 197, 884
=
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£ 5 R - BRTE Bify 2 i * 8§ i

HifrEE 1,181, 300

46 4 A #5|5RHER 1.00 1,181, 300 1,181, 300
=

KE - EEEREH 87,724

KERERH 33,179

47 KEFRERHE (1) HITHRH-125 1.00 24089 24. 089
=

48 KEREH (2) I L— At E 45 ~50t /A 1.00 4, 545 4, 545
=

49 KEREFE Q) RNy Rty 0 R %R fEE D 2. 0m3 1.00 4,545 4,545
%

G ERIER 54,545

50 EERBEH EMITA . HERIRITE 1.00 54,545 54, 545
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100Em3 &Y

£ 7 R - KT By = B Of € W = B &
1Ny R RN $MD 2. 0m3
B 1.25 720, 444. 00 900, 555 8. 00H / 10H
EIEE D 450PSEY
B 1.25 190, 100. 00 237,625/2.00H / 8H
R E M GERTTEE) $AD 120t/
B 1.25 896, 409. 00 1,120,511 4.00H / 8H
EIEE D 700PSEY
B 1.25 233, 995. 00 292,493/2.00H / 8H
RTINSy b DA49IDTFTRIFA L
B 1.25 78, 000. 00 97, 500
ICTN vk ss RV F VR
B 1.25 98, 800. 00 123, 500
AR =L NOY
% 0.50 2,772,184.00 13, 860
= 5 YEZERES - 100.00ZEm 3 217, 860. 00 2,786,044
&S :2
B B XM XLy
£ 7 R - KT By = B Of € W = B &
e KR [A] ¢ 1200 x 16t (P-P#*F) L=32.0m
ZN 28.00 4,365, 270. 00 122,227, 560
= it 1YE%HeH - 1.00K 122,227, 560. 00 122,227, 560
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&S :3
2 HEXRRITER (1) $T5%&K24.0m, RAKI5. Tm 1B&Y (3.6K)
£ 7 R - KT By = B Of | W E B &
MITHR GRIE/ N> <) H-125
B 1.00 3,626, 848. 00 3,626,848/6.00H / 8H
=30 $M500tFE
B 1.00 187, 026. 00 187,026 8H
E $HD St
B 1.00 250, 498. 00 250, 498 8H
HEER
A 1.00 25,410. 00 25,410
U
A 5.00 25, 940. 00 129, 700
LTEEXE
A 2.00 21,530. 00 43, 060
AR =L NOY
% 0.50 4,262, 542.00 21,312
= 5 YEZERESD : 3. 60K 1,189, 959. 00 4,283,854
E2=
B HEXRIRITER (2) $TE%&K24.0m, IRAK16.0m 1B3Y (3.6K)
£ 7 R - KT By = B Of o W E B =
MITHR GRIE/ N> <) H-125
B 1.00 3,626, 848. 00 3,626,848/6.00H / 8H
ai $M500tFE
B 1.00 187, 026. 00 187,026 8H
E $HD St
B 1.00 250, 498. 00 250, 498 8H
HEER
A 1.00 25,410. 00 25,410
U
A 5.00 25, 940. 00 129, 700
LEEXE
A 2.00 21,530. 00 43, 060
AR =L NOY
% 0.50 4,262, 542.00 21,312
= 5 YEZERESD : 3. 60K 1,189, 959. 00 4,283,854
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E =)
2 B R =1
£ 7 R - BIRTE BARL #H = B Of € W E B &
& X [B] ¢ 1200 x 16t (P-P##F) L=31.5m
ZN 4.00 4,311, 447.00 17, 245, 788
= it 1E%HeH - 1.00K 17, 245, 788. 00 17, 245, 788
ES:6
B HEXRRITR $T5%K24. Om, RAK16.0m 1H%Y (3.6X)
£ 7 R - BIRTiE BAGL #H = B Of € W E B =
AT GRIE/N> <) H-125
B 1.00 3,626, 848. 00 3,626,848/6.00H / 8H
=30 $M500t 7S
B 1.00 187, 026. 00 187,026 8H
E $HD 5t/
B 1.00 250, 498. 00 250, 498 8H
HEE&
A 1.00 25,410. 00 25,410
U
A 5.00 25, 940. 00 129, 700
LEEXE
A 2.00 21,530. 00 43, 060
AR L NOY
% 0.50 4,262, 542.00 21,312
= 5 YEZERESD : 3. 60K 1,189, 959. 00 4,283, 854
5:1
B BHEH EZ2L=10m, Efil=14.5n =1
£ 7 R - BIRTiE BAGL #H = B Of € W E B =
B H300 % 300 x 10 % 15mm
ZN 4.00 38, 270. 00 153, 080
g2 H300 x 300 x 10 x 15mm % 10m
ZN 2.00 26, 393. 00 52, 786
= 5 1YE%HeH - 1.00K 205, 866. 00 205, 866
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RILEE BHXFE(-12m)EETE(Z06)

S :8
& ¥ BHMEREBERE 1#HZ Y (10m)
%4 7 R - AR R BAf = B i £ W = B &
9 L—oftamm 45~50t B
B 0.70 376, 157. 00 263,309 6.00H / 8H
=2 $M300t 75
B 0.70 155, 181.00 108, 626 8H
B $D 5tH
B 0.30 250, 498. 00 75,149 8H
N anz 60KW (¥ L— &M, EEHEMR)
B 0.70 34, 830. 00 24, 381/6. 00H
BIE ) D300A
B 0.70 4,320.00 3,024
HREREM (AAT : ARRR - MK, &K Bl H X HEE!) 150kVA
BRI BHMERERSE) B 0.70 22,250. 00 15,575
HEER
A 0.80 25,410. 00 20, 328
U
A 1.30 25, 940. 00 33, 722
BET
A 0.20 25, 940. 00 5,188
EEFEEE
A 0.80 21,530. 00 17,224
P PR 2RD%
% 0.50 566, 526. 00 2,832
= 5 YEZERED : 10.00m 56, 935. 00 569, 358
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59
B ZRML - M 63m¥~ Y
%4 7 R - BIRTE BARL 2 B i | W E B &
X HRHMEE FHEEDY
% 70.00 731, 450. 00 512,015
g L—itEm 35~40tH
B 5.00 341, 554. 00 1,707,770 5.00H / 8H
EIEE £WMD 300PS#EY
B 5.00 127, 481.00 637,405 2.00H / 8H
ai $M500t 75
B 5.00 187, 026. 00 935, 130/8H
HEE&
A 5.00 25,410. 00 127, 050
U
A 15.00 25, 940. 00 389, 100
LEEXE
A 10. 00 21,530. 00 215, 300
AR 2RD%
% 0.50 4,523, 770.00 22,618
= 5 1YEZHES : 63.00m 72,164.00 4,546, 388
H5:10
275 : B RIRUIER 1THHY (27.3m)
% 7 R - BIRTiE BAGL 2 B i | W E B =
HZ MR (B LET) BHE - 88 2mmil L 10mmKiE
m 27.30 1,470. 00 40, 131
ai $M100t3E
B 1.00 96, 771.00 96, 771 8H
EIEE £MD 200PS#EY
B 1.00 108, 925. 00 108,925 2. 00H / 8H
= 5 YEZRES - 27.30m 9, 004. 00 245, 8217
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&H5: 11
275 : B RIRUIER THHY (23.1m)
%4 7 R - BIRTE BARL #H = B i | W E B &
HZ MR (B LHET) BE - #85 10mmLl L 20mmk
m 23.10 2,100. 00 48,510
=30 $M100t3E
B 1.00 96, 771.00 96, 771 8H
EIEE £WMD 200PS#EY
B 1.00 108, 925. 00 108,925 2. 00H / 8H
= 5 1YEZRES - 23.10m 11, 004. 00 254, 206
H5 :12
&% . - HERIRUIER 1THHY (21.4m)
%4 7 R - BIRTE BARL #H = B i | W E B &
HZ MR (B LHET) BE - #85 10mmLl L 20mmk
m 21.40 2,100. 00 44,940
=30 $M100t3E
B 1.00 96, 771.00 96, 771 8H
EIEE £WMD 200PS#EY
B 1.00 108, 925. 00 108,925 2. 00H / 8H
= 5 YEZRES - 21.40m 11,711.00 250, 636
H5 13
2% fHERMER - RE (BL—&AN) 1THEY (448)
% 7 R - BIRTiE BAGL #H = B i o W E B =
g L—2itEm 35~40tH
B 1.00 342, 883. 00 342,8836.00H / 8H
EIEE £MD 300PSZEY
B 1.00 127, 481.00 127,481/2.00H / 8H
LU
A 2.00 25, 940. 00 51,880
LEEXE
A 4.00 21,530. 00 86, 120
AR 2RD%
% 0.50 608, 364. 00 3, 041
= 5 1YEZRES - 44. 001E 13, 895. 00 611, 405
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H5: 14
ZF THIED - R bys—# =1
%4 7 R - BIRTE BARL #H = B i | # B &
EENI)) PL-16x32x3600 (SS400)
= 1.00 97,927.00 97,927
EENI)) PL-16x32x3580 (SS400)
= 1.00 12, 240. 00 12, 240
R bwyis— PL-9x25x50 (SS400)
= 1.00 19, 450. 00 19, 450
= it 1YE%HeH - 1.00K 129, 617.00 129, 617
H5 : 15
L A hw/S—iaHE t=9mm 1B&Y (6.8m)
%4 7 R - BIRTE BARL #H = B i | # B &
KPHET — U BE 6mmLL £ 10mmk i
m 5.80 30, 975. 00 179, 655
= it 1YE%HESN : 5.80m 30, 975. 00 179, 655
H5 :16
B FThiEHBEEA0)  t=14mm 1TH&EY (2.8m)
% 7 R - BIRTiE BAGL #H = B i | # B =
KPHET — U BE 13mmLA_E16mmzE T
m 2.80 89, 775. 00 251, 370
= it 1EXHESN : 2.80m 89, 775. 00 251,370
&H5 17
B ThIEHBEE Q)  t=16mm 1BH&EY (2.2m)
% 7 R - BIRTiE BAGL #H = B i | # B =
KPHET — U BE 13mmLA_E16mmzE T
m 2.20 89, 775. 00 197, 505
= it 1EZERESN : 2.20m 89, 775. 00 197, 505
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5:18
B REkE - REMH 1LY
£ 7 R - KT By = B Of | W E B &
[2ES PL-12x ¢ 1110 (SS400)
pod 140. 00 35,139.00 4,919, 460
[2ES PL-12x ¢ 1120 (SS400)
pod 13.00 35, 903. 00 466, 739
mymRiLE M16 x 2510 (SD345) (M16r ~h0T)
X 306. 00 2,080.00 636, 480
mymRiLE M16 x 4200 (SD345) (M16 h0T)
X 274.00 2,830.00 115, 420
mymRiLE M16 x 3700 (SD345) (M16 h0T)
X 32.00 2,610.00 83,520
Fv R M16, SS400, 1F&
& , 836. 00 6.80 12, 484
Ty — M16. SS400
& 612.00 4. 60 2,815
EEE PL-9x100x100 (SS400)
& 612.00 485. 00 296, 820
& B 1EZBER - 1.00 7,193, 738. 00 7,193, 738
H5:19
2% . Bk - RERE 183Y (9&FD
£ 7 R - KT By = B Of | W E B =
g L—ftEM 35~40tH
H 1.00 341, 554. 00 341,554/5.00H / 8H
EIEE D 300PSEY
H 1.00 127, 481.00 127,481/2.00H / 8H
& $M500t 35
H 1.00 187, 026. 00 187,026 8H
LU
A 2.00 25, 940. 00 51, 880
LEEXE
A 2.00 21, 530. 00 43, 060
AR =L NOY
% 0.50 751, 001. 00 3,755
& B {EZBEA - 9. 00EFR 83, 861.00 754, 156
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H5:20
B hEEaU Y ) — MERK 100m3 &Y
£ 7 R - BIRTE BARL 2 B Of | W E B &
ECE M GERTTEE) $D 50tH
B 1.60 546, 926. 00 875,081/4.00H / 8H
EIEE £MD 500PS#EY
B 1. 60 199, 862. 00 319,779/2.00H / 8H
avo)—bkn\gy b 5. 0m3
B 9. 60 5,730.00 55,008
AR =L NOY
% 0.50 1, 249, 868. 00 6, 249
= 5 YEZERES : 100.00m 3 12, 561. 00 1,256, 117
&H5: 21
L hEaL Y ) — TR 63m3 4y
£ 7 R - BIRTiE BAGL 2 B Of o W E B =
LT4—3HRbavsyy—¢ 30N-15-20(25)BB. W/C=50%
m3 65. 52 23, 000. 00 1, 506, 960
HEE&
A 2.38 25,410. 00 60, 475
U
A 7.14 25, 940. 00 185, 211
LEEXE
A 7.14 21,530. 00 153, 724
AR FHEEDY
% 3.00 399, 410. 00 11, 982
= 5 1E%HES : 63.00m 3 30, 450. 00 1,918, 352
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&H55:22
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B 1.00 52,000. 00 52,000 8H
HEE&
A 1.00 25,410. 00 25,410
LU
A 2.00 25, 940. 00 51,880
LEEXE
A 1.00 21,530. 00 21,530
AR 2RD%
% 0.50 150, 820. 00 754
= 5 YEZERESD ¢ 140. 00K 1,082. 00 151,574
H5:23
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B/ME FHEEDY
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oR—59 L—r GhEERER) 65t F
B 0.50 68, 263. 00 34,131 8H
AR &) D300A
B 1.50 4, 430.00 6, 645
BET
A 0.80 25, 940. 00 20, 752
LU
A 2.50 25, 940. 00 64, 850
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A 1.10 21,530. 00 23, 683
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= 5 YE%HES : 6.00m 107, 802. 00 646, 814
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A 1.00 21, 530. 00 21,530
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BET
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#H 6.00 868, 420. 00 5,210, 520
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EIEE §ffD 450PSEY
H 2.10 190, 100. 00 399,210/2.00H / 8H
LU
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BERE : RLERM FRP D 180PSH 1E2Y 8.00H / 10H
% # Mg - AR TiE B g L i £ # S ® =
EiA
L 49.00 100. 70 4,934
Sifma
A 1.42 30, 450. 00 43,239 B=1.42
LTEME
A 1.42 24, 990. 00 35,485 B=1.42
B¥ (SEM FRPEL]) D 180PSE! 10. 06T
B 1.00 9, 420.00 9,420 et
B¥ (SEM FRPEL]) D 180PSE! 10. 06T
B 1. 65 9, 850. 00 16,252 =1.65 C35l=
O 109, 330
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